

$$\log_n^m = a \Rightarrow n^a = m \quad \log_{mn}^{m^r n} = b \Rightarrow mn^b = m^r n \Rightarrow (n^{a+1})^b = n^{ra+1} \quad (r)^{-1}$$

$$b = \log_{mn}^{m^r n} = \log_n^n \frac{ra+1}{a+1} \rightarrow \log_n^n \times \frac{ra+1}{a+1} = \frac{ra+1}{a+1} = b \quad [b] = 1 \quad \checkmark$$

$$\Rightarrow [b] = \left[ \frac{ra+1}{a+1} \right] = \left[ \frac{ra+r-1}{a+1} \right] = \left[ r + \frac{-1}{a+1} \right] \xrightarrow{a \geq 0} [1, \dots] = 1$$

$\alpha) y = \sqrt{\frac{n}{\log \frac{n}{p}}}$ 
 $\beta) \frac{n}{\log \frac{n}{p}} \geq 0 \rightarrow$ 

|                    |   |   |
|--------------------|---|---|
| $\frac{n}{p}$      | 0 | 1 |
| $\frac{n}{p}$      | - | + |
| $\log \frac{n}{p}$ | + | - |
| $p$                | + | - |

 $\Rightarrow D_f = (0, 1)$  ✓

$$\begin{aligned}
 & -\xi a x^r + b x + \frac{1}{r} c \quad \frac{b+c}{r} = a \Rightarrow r a = b+c \Rightarrow b = r a - c \\
 & \frac{1}{x_1 + x_2} = \frac{1}{s} = \frac{\xi a}{b} = \frac{\xi a}{r a - c} = \log \xi = r \log r \Rightarrow \log r = \frac{r a}{r a - c} \Rightarrow \log \frac{10}{r} = \frac{r a - c}{r a} \\
 & \Rightarrow 1 - \frac{c}{r a} = \log r^{10} \Rightarrow 1 - \log r^{10} = \frac{c}{r a} \Rightarrow r - \log r^{100} = \frac{c}{a} \\
 & \Rightarrow \left( \frac{1}{\sqrt[r]{r}} \right)^{\frac{c}{a}} = \left( \sqrt[r]{\frac{1}{r}} \right)^{\frac{c}{a}} = \left( r^{-\frac{1}{r}} \right)^{\frac{c}{a}} = \left( r^{\frac{c}{a}} \right)^{-\frac{1}{r}} = \left( r^{r - \log r^{100}} \right)^{-\frac{1}{r}} = \left( \frac{r^r}{r^{\log r^{100}}} \right)^{-\frac{1}{r}} = \left( \frac{\xi}{100} \right)^{-\frac{1}{r}} \\
 & = \left( \frac{100}{\xi} \right)^{\frac{1}{r}} = (r \omega)^{\frac{1}{r}} = \left( \sqrt[r]{\omega} \right) \quad \checkmark
 \end{aligned}$$

$$\begin{aligned}
 \lg_{10}^r &= \frac{\lg_r^r}{\lg_r^{10}} = \frac{\lg_r^r + \lg_r^r}{\lg_r^r + \lg_r^2} = \frac{\frac{2}{r} + 1}{1 + 1,2} = \frac{\frac{12}{r}}{2,2} = \boxed{\frac{12}{r_0}} \\
 \lg_r^r &= \frac{1}{\lg_r^r} = \frac{2}{r}
 \end{aligned}$$